XYZ=858.975 , 908.216 , 95428
a* =500 @' —a’y) Y13

b* =500 p' - b',) Y13

a =ay [x/y] 13

b =b, [z/]13

2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpg 13=-0.08376¢5
n = D65 ©
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Name of the device colour
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Gqg,RECS CyreCS
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Device and elementary coloursY,,=10!
of the offsetcolour space for D65
in chroma diagram (a*pgs, b*
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XYZw=873.582 , 908.569 , 72'.{)7865
a* =500 @' —a’,) Y13

120
b* =500 b’ - by Y3
a =ay [x/y] 13
b’ = by [z 13
2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpgs)1/3=—0.08376 © %
n=D50 . %€ | %oes
o0 120
CIELAB D65
Name of the device colour
R4 RECS Yd,RECS
Gqg,RECS Cq, RECS
BgreCS Mg
Device and elementary colour,sYW 10
of the offsetcolour space for D50 -120

in chroma diagram (a*pgs, b*
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XYZw=915.75 , 908.886 , 568 % 065

a* =500 @' —a’,) Y13 1120

b* =500 b’ - b'y) Y13

a’ =ap [xy]13 e

b’ = b, [zh]V3 C

2,=[1/Xpgg 1/3=0.2191

by=—[1/Zpeg 1*=-0.08376 Re

n = P40 ) o A'bes
-120 120
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Name of the device colour

R4 RECS Yd,RECS S
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BgreCS My

Device and elementary colour,sYW 10

of the offsetcolour space for P40 T-120

in chroma diagram (a*pgs, b*
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XYZw=999.329 , 909.474, 313987, _
a* =500 @' - a’y) Y3

b* =500 ' - b’y) Y3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—[L/Zpgg) 13=-0.08376

n =A00 G,
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CIELAB D65
Name of the device colour
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BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for AOO
in chroma diagram (a*pgs, b*
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XYZw=904.435 , 908.455 , 878§,
a* =500 @' - a’y) Y3

b* =500 ' - b’y) Y3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—{1Zed 1=-0.08376,,
n = E00 e
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Gqg,RECS CyreCS
BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for EO0
in chroma diagram (a*pgs, b*
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XYZ=885.915 , 908.163 , 1035%78,
a* =500 @' —a’y) Y13

b* =500 p' - b',) Y13

a =ay [x/y] 13

b =b, [z/]13

2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpeg 13=-0.08376 5
n=Co00 °
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Name of the device colour
R4 RECS Yd,RECS
Gqg,RECS CyreCS
BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for CO0
in chroma diagram (a*pgs, b*
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XYZw=924.802, 908.732 , 711534,
a* =500 @' -a'y) Y3

b* =500 b’ - b'y) Y13

a = a, [y

b’ = by [z 13

ay=[1/Xpegl 13=0.2191
by=—[L/Zpgq] L3=-0.08376

n = P00 G
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CIELAB D65

Name of the device colour

R4 RECS Yd,RECS
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XYZw=884.055 , 908.177 , 104§°gg,
a* =500 @' -a’y) Y3

b* =500 p’ - b'p) YI/3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpge] 1/3=0.2191
by=-[1/Z e ¥3=-0.0837

n = Q00 e
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of the offsetcolour space for Q00
in chroma diagram (a*pgs, b*
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XYZw=856.262 , 907.063 , 93@%65

a* =500 @' - a’y) Y3

b* =500 ' - b’y) Y3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=-[1/Zped V3=-0.08376
n = D65
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XYZw=875.822 , 907,661 , 7147,
a* =500 @' - a’y) Y3

b* =500 ' - b’y) Y3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—[1/Zpedl¥3=-0.08376

n=D50 ©
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Name of the device colour
R4 RECS Yd,RECS
Gqg,RECS CyreCS
BgreCS My rReCS

Device and elementary coloursY,,=10!
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in chroma diagram (a*pgs, b*
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XYZw=922.693 , 908.142 , 56!{)@@

a* =500 @' —a’,) Y13 120
b* =500 p' - b)) Y13

a =ay [x/y]13 Y,

b’ = b, [z 13

a,=[1/Xpgg] 13=0.2191
by=—[L/Zpgg) 13=-0.08376 G

n = P40 ) e
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Name of the device colour
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Device and elementary colour,sYW 10
of the offsetcolour space for P40 -120

in chroma diagram (a*pgs, b*
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XYZw=1010.78 , 909.03 , 309 | b*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpgg ¥3=-0.08376

n=A00 G,
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Name of the device colour
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of the offsetcolour space for AOO
in chroma diagram (a*pgs, b*

-120

*
Qpss

120

1-001030-LO

SE821-7A 1




XYZw=903.609 , 907.361 , 87997
a* =500 @' —a'y) Y3

b* =500 p' - b)) Y13

a =ay [x/y] 13

b’ =b, [z 13

2,=[1/Xpgd 1/3=0.2191
by=~[1/Zpeg ¥3=-0.08376
n = E00 ©

-120
CIELAB D65
Name of the device colour
R4 RECS Yd,RECS
Gqg,RECS CyreCS
BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for EO0
in chroma diagram (a*pgs, b*
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XYZw=878.194 , 906.929 , 101§
a* =500 &' - a’y) Y3

b* =500 ' - b’y) Y3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—[1/Zped V3=-0.08376
n=C00
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BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for CO0
in chroma diagram (a*pgs, b*
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XYZw=926.951 , 907.82 , 710.p* 065
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg 1/3=0.2191
by=—[1/Z0el=-0.08376
n = P00

e
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Name of the device colour
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BgreCS
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Device and elementary colour,sYW 10
of the offsetcolour space for POO
in chroma diagram (a*pgs, b*
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XYZw=880.693 , 906.911 , 103
a* =500 @' -a’y) Y3

b* =500 p’ - b'p) YI/3

a' =ay [xy] 13

b’ = by [z} 13

a,=[1/Xpge] 1/3=0.2191
by=[1/Zpegl V3=-0.08376
n=Qoo0
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Name of the device colour
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BgreCS My rReCS

Device and elementary coloursY,,=10!
of the offsetcolour space for Q00
in chroma diagram (a*pgs, b*
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